Algebra 2 Mid-Year Test
Study Guide
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Name the property that jﬁstiﬂes each statement,
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Identify the special factoring patterns.
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Factor the expressions below completely,
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.. Discriminant Formula:

4 . lf d < 0 1here are 2 imugmary roots.
* Ifd=0, thereis 1 rational root

* 1fd>0 and a perect square, there are 2 rational roots A
b * Ifd>0 and not a perfect square, there are 2 irrational roots.

Find the@crlmma nLof each equation. Then, gefer fetermjné the number and fypé of rooks.
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80. The pilot in a helicopter tossed a life float down to a swimmer in the water. The height, h{ of ?he
float after time ¢ seconds is represented by the equation A(#) = -16¢> — 3¢ + 55, Find the time it

takes the float to reach the swimmer. -y
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Use f(x)=x*+5x-14, g(x)=x+ 1, and #(x) =15-2x* to answer questions 83 — 88.
83. Find [ f(_7)]—2 . 84. Ifg(x)=-23, find x.
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Identlfy each parent functlon, then sketch the graph -
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For each equation: (1) identify the function family, and (2) describe the transformations.
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